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Time Speed and Distance

1. By walking ; of his usual speed a man reaches his office 20

minutes later than his usual time. The usual time taken by him to

reach his office is :

W?ﬂﬁ@f; 19T & ITHT el W U afFd faag aag @
2oﬁmmamﬁla‘ﬁmq§aﬁwmmﬁmw
&7

(@) 75 minutes (b) 60 minutes

(c) 40 minutes (d) 80 minutes
2. Atrain running at i of its own speed reached a place in 22

hours. How much time could he saved if the train (would run at

its own speed?

WW@MW?@%% 19T W Tole? W g aran
FI TT I H 22 G FT FHT oIl &1 30 g 39eT AT

a1fd @ Il df 98 Fohdalr G# T or=m oref?
(@) 28 hours (b)21 hours
(c) 14 hours (d) 8 hours

3. A train passes a 50 metres long platform in 14 seconds and a
man standing on the platform in 10 seconds. The speed of the
train is:

Teh ITAATT YSIMEY 50 HY. TFs TATHIA AT TAThHIH I T

Ueh STTd &l IR &lel 7 AT 14 TAT 10 F. &7 FAT odT &
TeramET i arfa are (ersfi/eer #) |

(@) 50 km/hr (b) 48 km/hr
(c) 40 km/hr (d) 45 km/hr
4. A train passes two bridges of lengths 800m and 400m in 10

seconds and 60 seconds respectively. The length of the train is:

Teh {SHIMMST &1 Yol ToleTehl STFaTSTT Shavel: 800 AT 400 Y. B,
IR el H hael: 100 T 60 . T THI oicll & | TATT YeTaMeT

1 oS el &7

(a),160m (b) 250m
(c) 200m (d) 400m
5. A train passes two bridges of length 500m and 250m in 100

seconds and 60 seconds respectively. The length of the train is:

Teh TeAMEY 500 Hr 31X 250 #Y ofa aT il T sharer: 100 dhs
3R 60 Ths H IR & olcil & | YSAIMT T oFaTs TohctalT 87

(b) 250m
(d) 130m

(a) 125m
(c) 120m
6. The length of a train and that of a platform are equal. If with a

speed of 90 km/hr the train crosses the platform in one minute,

then the length of the train (in metres) is: Teh YolPMST 2T
CICWHIH T FaTSAT AT & | Yeremar / 90 fera/ereT I afa &
eI §U TR I Ueh A | H IR T oIl & STl Yeramsy

T el oS (HIeT #) fehcetl &2
(a) 650 m (b) 600 m
(c) 750 m (d) 800 m

7. A train 270 metres long is running at a speed of 36 km per

Ahour then it will cross a bridge of length 180 metres in:

270 HreT FY T ISy i 36 fohe). wfay ger fr arfay & Ty

gu 1803412T<‘~iﬁg?’rafrwqwd H fordaT gag e

(a) 44 sec (b) 45 sec (c) 50 sec (d) 48 sec
8. A train 280m long moving at the speed of 20m/sec overtakes a
man moving at a speed of 10m/sec in the same direction. The

train passes the manin:

T 280 HY. oY Ye@mar 20 Hr./4A. aﬁr?rﬁrﬁaaﬁgtrw
& & 10 #AY./A. &7 afa & Tof T 3TEAT B IR el H fohdall

AT ofa?
(a) 42 sec (b) 7 sec
(c) 28 sec (d) 14sec

Maths by Bhagwati Prasad Sir

Page 1



— SAFALTA CLASS

An Initiative by 3FRISTICN

9. How many seconds will a 500 metre long train take to cross a
man walking with a speed of 3 km/hr in the direction of the

moving train if the speed of the train 63 km/hr?

U 500 Y. JIF<T YoEmar 63 frafi/ger aifgd & oo Wr | 81
YIS T &1 feerm 7 3 foray./arer &t a1fa & 17 3¢ eaferd & R

T H 39 fhder gHEg eEm?

(a) 31 sec (b) 30 sec

(c) 32 sec (d) 33 sec

10. A passenger train 150m long is travelling with a speed of 36
km/hr. If a man is cycling in the direction of train at 9 km/hr, the
time taken by the train to pass the man

is:

T 150 &Y. oIy Yoremar 36 fReli/aer & afa & e W B
JTIET I fem # 9 fonai/ger dr aifa & Arsfrer Tar @ egfad

T IR et H ToIIT I1AT FHIF FAT3T |
(a) 40 sec (b) 19 sec
(c) 18 sec (d) 20 sec

11. A train running at the speed of 84 km/hr passes a man (43
Walking in opposite direction at the speed of 6 km/hr in 4

seconds. What is the length of train (in metre)?

84 forafi/ae &Y 1T & Teley aTel Teh TTIMaY 79T f3udia fear
# 6 fra/ger T a1fd @ T W ITFT & 4 Yohs H IR T oIy
& SATT YSIRST Y faTS (Y. 7) Far 82

(a) 150 m (b) 200 m

(c) 100 m (d)90m

12. Two trains, one 160m and the other 140m long are runMhing
in opposite directions in parallel tracks, the first at 77 km an hour
and the other at 67 km an hour. How long will they take to cross

each other?

ar YAIMSAT fSeTehr et A 160 HY. Tar 140 Y. g,
g em & AR geRAt 9T aa W &1 396 afaar
ShET: 77 ThaI/EeT AT 67 fohal/EeT &1 Ueh q@ i IR it H

T fohdelT T ofaf?

(a) 7 seconds (b) 7%seconds

(c) 6 seconds (d) 8 seconds

13. Two trains 140m and 160m long run at the speed of 60
Skh/hr and 40 km/hr respectively in opposite directions on
parallel tracks. The time (in seconds) which they take to cross

each other is :

&l YAIMTSAT TSAT Iarsar shael: 140 #HY. dar 160 #. §
faadia feemsit & = W@ &1 39k a1faar swaer 60 fraiaer
AT 40 fheAI/EeT &1 AT Teh gER T IR FA H 3o¢ fohclall
HHY o@aT?

(a) 10 sec
(c) 11 sec

(b) 10.8 sec

(d) 9.6 sec

14. A train 100m long is running at the speed of 30 km/hr. The
time (in second) in which it passes a man standing near the
railway line is :

100 #Y. srFY Yeramsr 30 forafi/er. &y aifa & Tor WY §1 ToleweT
& Toohe @3 cafard &l IR Xt H fohdelr g8 (&, #) e

(b) 20 sec.
(d) 6 sec.

47. A 75 metre long train is moving at 20 kmph. It will cross a

(a) 13 sec.
(c) 12 sec.

man standing on the platform in:

Teh 75 HY, <Y Yoramay St 20 Fa/ger A arfa A IT @I g, Th
TIATHIH W T3 ITFd l IR e & hder FHT 3i?

(a) 12 seconds
(c) 13.5 seconds

(b) 13 seconds
(d) 15 seconds
15. A 275m long train crosses a platform of equal length Jin 33

sec. Find the speed of the train. 275 HieX & ¢oT RS TFTS
% ToICWHTH Sl 33 Aehs H IR Hdl g1 ¢l T aTfa AT T |

(a) 60 km/hr .
(c) 55 km/hr

(b) 65 km/hr
(d) 70 km/hr
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16. A gun is fired from a fort. A man hears the sound 10 aseconds
later. If the sound travels at the rate of 330 m/sec, find the

distance between the fort and the man.

T fhel & §geh O el TS STl § Teh safard Y 38T
3TaTSt 10 Aehs S1g Feirs &l &1 Ife eafer 330 #r/@. o) amm
I & Al el 3R 39 egfehed o orer 1 g8 SIS |

(ay330km (b) 33km

(c) 3.3km (d) 0.33km
17. The speed of two trains are in the ratio 6 : 7. If the second

train runs 364 km in 4 hours, then the speed of first train is:

ar Yeramisat v arfeat 1 3reqard 6 : 7 &1 Ffe qady Teemsy 4
el # 364 fohell. STl & ol gt Yeramst i a1fd sard|

(a) 52 km/hr (b) 65 km/hr

(c) 78 km/hr (d) 104 km/hr
18. The ratio of length of two trains is 4:3 and the ratio of their

speed is 6 : 5. The ratio of time taken by them to cross a pole is :

al YCIaMTSat T ofellg 4:3 TUT JThl TTel 6:5 3T H &

TRy T8 T IR A H 3eToh @RI fordT 17 FHY T 37T

g
(@) 5:6 (b) 5:8
(c) 10:9 (d)20:19

19. A constable is 114 metres behind a thief. The constable a
runs 21 metres per muinute and the thief runs 15 metres in a

minute. In what time will the constable catch the thief?

TS JieradTel Ueh AT §U IR & 114 1. 91 & | gferaarer a2
AT &1 AT FHALT: 21 H/fATIe TUr 15 A Aae 1 Faa

THI H GierEarell TR 1 I3 olam?

(a) 19 minutes (b) 18 minutes

(c) 17 minutes (d) 20 minutes
20. A bus moving at a speed of 45 km/hr overtakes a truck 150

metres ahead going in the same direction in 30 seconds. The

speed of the truck is :

45 m/da@r?rﬁﬁaaﬁguww,mﬁlsommw
Ig T ¢ I U Hlel H 30 Ths T TAT oIl g| T I T

13| (fRai/ee)

(2).27 km/hr (b) 26 km/hr

(c) 25 km/hr (d) 28 km/hr
21. A jeep is chasing a car which is 5 km ahead. Their CAD
Jespective speed are 90 km/hr and 75 km/hr. After how many

minutes will the jeep catch the car?

Teh ST TG J 5 fHAY. 31T 31 W FR 1 TroT X | &1 3aTehr

FfaT saer: 90 fra/ger g 75 fFal/ger §1 fhde e s

ST R &l Gehs oIaiT?
(a) 18 min (b) 20 min
(c) 24 min (d) 25 min
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